

NETSYNC

2500 West Loop South, Ste.
410/510
Houston, TX 77027 USA
713.218.5000

QUOTE

AAAQ322899-02

Quote #:	AAAQ322899-02
Date:	11/17/2020
Valid for:	30 Days

Sell To Contact	Inside Sales	Account Manager
Michael Mendiola MMendiola@killeentexas.gov (254) 702-0984	D.J. Huston dhuston@netsync.com	Marcus Omolaja MOmolaja@netsync.com

Please send purchase order to: PO@netsync.com

Line #	Part	Description	Qty	Unit Price	Ext Price
--------	------	-------------	-----	------------	-----------

Main Site Sub Total 71,716.70

Cisco

1.0	C9300-48UXM-A	Catalyst 9300 48-port(12 mGig, 36 2.5Gbps) Network Advantage	2	5,163.60	10,327.20
1.1.0	C9300-NW-A-48	C9300 Network Advantage, 48-port license	2	0.00	0.00
1.2.0	S9300UK9-1612	Cisco Catalyst 9300 XE 16.12 UNIVERSAL	2	0.00	0.00
1.3.0	PWR-C1-1100WAC-P	1100W AC 80+ platinum Config 1 Power Supply	2	0.00	0.00
1.4.0	C9300-SPS-NONE	No Secondary Power Supply Selected	2	0.00	0.00
1.5.0	CAB-TA-NA	North America AC Type A Power Cable	2	0.00	0.00
1.6.0	C9300-SSD-NONE	No SSD Card Selected	2	0.00	0.00
1.7.0	STACK-T1-50CM	50CM Type 1 Stacking Cable	2	39.60	79.20
1.8.0	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	2	37.60	75.20
1.9.0	PWR-C1-BLANK	Config 1 Power Supply Blank	2	0.00	0.00
1.10.0	C9300-DNA-A-48	C9300 DNA Advantage, 48-Port Term Licenses	2	0.00	0.00
1.10.1.0	C9300-DNA-A-48-3Y	C9300 DNA Advantage, 48-Port, 3 Year Term License	2	1,494.30	2,988.60
1.10.2.0	CON-SSTCM-C93A48	SOLN SUPP SW SUBC9300 DNA Advantage	2	402.50	805.00
1.11.0	C1-ADD-OPTOUT	Cisco ONE Add-On Session Opt Out (No Fulfillment)	2	0.00	0.00
1.12.0	PI-LFAS-T	Prime Infrastructure Lifecycle & Assurance Term - Smart Lic	2	0.00	0.00
1.12.1.0	PI-LFAS-AP-T-3Y	PI Dev Lic for Lifecycle & Assurance Term 3Y	2	0.00	0.00
1.13.0	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	2	1,010.70	2,021.40
1.14.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	2	0.00	0.00
1.15.0	CON-SSSNT-C93A048M	SOLN SUPP 8X5XNBD Catalyst 9300 48-port(12 mGig36 2.5Gbps	2	2,233.50	4,467.00
2.0	C9300-48P-A	Catalyst 9300 48-port PoE+, Network Advantage	3	3,974.90	11,924.70
2.1.0	C9300-NW-A-48	C9300 Network Advantage, 48-port license	3	0.00	0.00
2.2.0	S9300UK9-1612	Cisco Catalyst 9300 XE 16.12 UNIVERSAL	3	0.00	0.00
2.3.0	PWR-C1-715WAC-P	715W AC 80+ platinum Config 1 Power Supply	3	0.00	0.00
2.4.0	C9300-SPS-NONE	No Secondary Power Supply Selected	3	0.00	0.00
2.5.0	CAB-TA-NA	North America AC Type A Power Cable	3	0.00	0.00
2.6.0	C9300-SSD-NONE	No SSD Card Selected	3	0.00	0.00
2.7.0	STACK-T1-50CM	50CM Type 1 Stacking Cable	3	39.60	118.80
2.8.0	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	3	37.60	112.80
2.9.0	PWR-C1-BLANK	Config 1 Power Supply Blank	3	0.00	0.00
2.10.0	C9300-DNA-A-48	C9300 DNA Advantage, 48-Port Term Licenses	3	0.00	0.00
2.10.1.0	C9300-DNA-A-48-3Y	C9300 DNA Advantage, 48-Port, 3 Year Term License	3	1,494.30	4,482.90

Quote #:	AAAQ322899-02
Date:	11/17/2020
Valid for:	30 Days

Line #	Part	Description	Qty	Unit Price	Ext Price
2.10.2.0	CON-SSTCM-C93A48	SOLN SUPP SW SUBC9300 DNA Advantage	3	402.50	1,207.50
2.11.0	C1-ADD-OPTOUT	Cisco ONE Add-On Session Opt Out (No Fulfillment)	3	0.00	0.00
2.12.0	PI-LFAS-T	Prime Infrastructure Lifecycle & Assurance Term - Smart Lic	3	0.00	0.00
2.12.1.0	PI-LFAS-AP-T-3Y	PI Dev Lic for Lifecycle & Assurance Term 3Y	3	0.00	0.00
2.13.0	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	3	1,010.70	3,032.10
2.14.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	3	0.00	0.00
2.15.0	CON-SSSNT-C93004PA	SOLN SUPP 8X5XNBD Catalyst 9300 48-port PoE+, Network Adva	3	1,753.60	5,260.80
3.0	C9300-48P-A	Catalyst 9300 48-port PoE+, Network Advantage	1	3,974.90	3,974.90
3.1.0	C9300-NW-A-48	C9300 Network Advantage, 48-port license	1	0.00	0.00
3.2.0	S9300UK9-1612	Cisco Catalyst 9300 XE 16.12 UNIVERSAL	1	0.00	0.00
3.3.0	PWR-C1-715WAC-P	715W AC 80+ platinum Config 1 Power Supply	1	0.00	0.00
3.4.0	PWR-C1-715WAC-P/2	715W AC 80+ platinum Config 1 SecondaryPower Supply	1	495.40	495.40
3.5.0	CAB-TA-NA	North America AC Type A Power Cable	2	0.00	0.00
3.6.0	C9300-SSD-NONE	No SSD Card Selected	1	0.00	0.00
3.7.0	STACK-T1-50CM	50CM Type 1 Stacking Cable	1	39.60	39.60
3.8.0	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	1	37.60	37.60
3.9.0	C9300-DNA-A-48	C9300 DNA Advantage, 48-Port Term Licenses	1	0.00	0.00
3.9.1.0	C9300-DNA-A-48-3Y	C9300 DNA Advantage, 48-Port, 3 Year Term License	1	1,494.30	1,494.30
3.9.2.0	CON-SSTCM-C93A48	SOLN SUPP SW SUBC9300 DNA Advantage	1	402.50	402.50
3.10.0	C1-ADD-OPTOUT	Cisco ONE Add-On Session Opt Out (No Fulfillment)	1	0.00	0.00
3.11.0	PI-LFAS-T	Prime Infrastructure Lifecycle & Assurance Term - Smart Lic	1	0.00	0.00
3.11.1.0	PI-LFAS-AP-T-3Y	PI Dev Lic for Lifecycle & Assurance Term 3Y	1	0.00	0.00
3.12.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	1	0.00	0.00
3.13.0	NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank	1	0.00	0.00
3.14.0	C9300-NM-NONE	No Network Module Selected	1	0.00	0.00
3.15.0	CON-SSSNT-C93004PA	SOLN SUPP 8X5XNBD Catalyst 9300 48-port PoE+, Network Adva	1	1,753.60	1,753.60
4.0	C9300-48P-A	Catalyst 9300 48-port PoE+, Network Advantage	1	3,974.90	3,974.90
4.1.0	C9300-NW-A-48	C9300 Network Advantage, 48-port license	1	0.00	0.00
4.2.0	S9300UK9-1612	Cisco Catalyst 9300 XE 16.12 UNIVERSAL	1	0.00	0.00
4.3.0	PWR-C1-715WAC-P	715W AC 80+ platinum Config 1 Power Supply	1	0.00	0.00
4.4.0	PWR-C1-715WAC-P/2	715W AC 80+ platinum Config 1 SecondaryPower Supply	1	495.40	495.40
4.5.0	CAB-TA-NA	North America AC Type A Power Cable	2	0.00	0.00
4.6.0	C9300-SSD-NONE	No SSD Card Selected	1	0.00	0.00
4.7.0	STACK-T1-50CM	50CM Type 1 Stacking Cable	1	39.60	39.60
4.8.0	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	1	37.60	37.60
4.9.0	C9300-DNA-A-48	C9300 DNA Advantage, 48-Port Term Licenses	1	0.00	0.00
4.9.1.0	C9300-DNA-A-48-3Y	C9300 DNA Advantage, 48-Port, 3 Year Term License	1	1,494.30	1,494.30
4.9.2.0	CON-SSTCM-C93A48	SOLN SUPP SW SUBC9300 DNA Advantage	1	402.50	402.50

NETSYNC

2500 West Loop South, Ste.
410/510
Houston, TX 77027 USA
713.218.5000

QUOTE

AAAQ322899-02

Quote #:	AAAQ322899-02
Date:	11/17/2020
Valid for:	30 Days

Line #	Part	Description	Qty	Unit Price	Ext Price
4.10.0	C1-ADD-OPTOUT	Cisco ONE Add-On Session Opt Out (No Fulfillment)	1	0.00	0.00
4.11.0	PI-LFAS-T	Prime Infrastructure Lifecycle & Assurance Term - Smart Lic	1	0.00	0.00
4.11.1.0	PI-LFAS-AP-T-3Y	PI Dev Lic for Lifecycle & Assurance Term 3Y	1	0.00	0.00
4.12.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	1	0.00	0.00
4.13.0	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	1	1,010.70	1,010.70
4.14.0	CON-SSSNT-C93004PA	SOLN SUPP 8X5XNBD Catalyst 9300 48-port PoE+, Network Adva	1	1,753.60	1,753.60

Access Points

5.0	AIR-AP2802I-B-K9	802.11ac W2 AP w/CA; 4x4:3; Int Ant; 2xGbE B	10	640.40	6,404.00
5.1.0	AIR-AP-T-RAIL-R	Ceiling Grid Clip for APs & Cellular Gateways-Recessed	10	0.00	0.00
5.2.0	AIR-AP-BRACKET-1	802.11 AP Low Profile Mounting Bracket (Default)	10	0.00	0.00
5.3.0	SW2802-CAPWAP-K9	Cisco Aironet 2800 Series CAPWAP Software Image	10	0.00	0.00
5.4.0	AIR2800-DNA-OPTOUT	CISCO DNA SUBSCRIPTION OPTOUT for AIR2800	10	0.00	0.00
5.5.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	10	0.00	0.00
6.0	LIC-CT5520-UPG	Top Level SKU for 5520 AP Adder Licenses	1	0.00	0.00
6.1.0	LIC-CT5520-1A	Cisco 5520 Wireless Controller 1 AP Adder License	10	100.30	1,003.00

Notes

AP adds

Cisco Systems TX | DIR-TSO-4167

Total	71,716.70
Tax/Vat	0.00
Shipping	0.00
Grand Total USD	71,716.70



No Israel Boycott Certification

Texas Government Code, Chapter 2270, provides that a governmental entity – including a city – may not enter into certain contracts with a company for goods or services unless the contract contains a written verification that the company does not boycott Israel and will not boycott Israel during the term of the contract. The verification is specifically required when a governmental entity 1) enters into a contract with a company with ten (10) or more full-time employees, and 2) the contract is valued at \$100,000 or more to be paid wholly or partly from public funds.

“Boycott Israel” is defined in Texas Government Code 808.001 to mean refusing to deal with, terminating business activities with, or taking any action that is intended to penalize, inflict economic harm on, or limit commercial relations specifically with Israel, or with a person or entity doing business in Israel or in an Israeli-controlled territory, but does not include an action made for ordinary business purposes.

By signing below, I verify that the company listed below does not boycott Israel and will not boycott Israel during the term of the contracted entered into with the City of Killeen. I further certify that I am authorized by the company listed below to make this verification.



Signature

Angela Melone

Printed Name

11/17/2020

Date

Netsync Network Solutions

Company Name

Corporate Editor

Title